Answer the name of the following station if your answer from the previous station was Double
Replacement.

STATION 1

Fe + CU(NOg)z -—=> FE(NO3)2 +
Cu

GOODNESS GRACIOUS, GREAT BALLS OF FIRE! KZO



Answer the name of the following station if your answer from the previous station was
Combustion.

STATION 2

2KCIO3 ---> 2KCI + 30,

GOODNESS GRACIOUS, GREAT BALLS OF FIRE!



Answer the name of the following station if your answer from the previous station was Synthesis.

STATION 3

2C,Hg + 70, — 4C0O, + 6H,0

GOODNESS GRACIOUS, GREAT BALLS OF FIRE! KZO



Answer the name of the following station if your answer from the previous station was
Decomposition.

STATION 4

2NaCl + H,SO4 - NayS0,4 +
2HCI

GOODNESS GRACIOUS, GREAT BALLS OF FIRE!



Answer the name of the following station if your answer from the previous station was Single
Replacement.

STATION S5

2H2 + O; ---> 2H,0

GOODNESS GRACIOUS, GREAT BALLS OF FIRE!



